Knowledge Organiser

Booklet Year 9 Term 2

Our working memories can only store a limited amount of information, whereas our
long term memories can store limitless information. To learn successfully, we need to
store core knowledge into our long term memories, so we can retrieve it when we

need it.

For instance if you are at work or in the shops and need to work out a 25% discount,
you cant memorise 25% of every number, so you need to be able to quickly recall the
method for calculating a percentage. Committing core knowledge to our long-term
memories is a life-hack. It makes thinking about difficult things easier.

Using a knowledge organiser with regular retrieval activities is a way for you to store
core knowledge & subject specific words, into your long term memory so it is there

when you need it.

Click here to be taken to the
knowledge organiser part of
the school website.



https://www.telfordlangleyschool.co.uk/page/?title=Knowledge+Organisers&pid=191

Contents

Clicking on the subjects below will take you directly to the knowledge organisers for
each subject. These are to support learning that has taken place this past term. Use
these to help reinforce the key knowledge. Use some of the strategies explained in
the introduction to help you retain this important information.
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Make sure you have access to a computer at home (If
you don’t please make pastoral staff aware or email
langley.homelearning@taw.org.uk)

Download Microsoft Teams on both your phone and
computer. (If you don’t know how to do this please
ask a member of staff or do this in your next compu-

ting lesson)

Spend at least 2 hours a week using teams EVERY
WEEK. (Engagement in teams can be tracked and
monitored). You need to be accessing each of your
class teams and recapping on the previous learning or
completing additional tasks set by your class teacher.

If you have any issues with teams (e.g. login problems
or missing classes etc then please email lang-
ley.homelearning@taw.org.uk)

Teams is a tool to support ongoing learning and
should only be used for educational purposes.
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Retrieval Placemat

Look at your knowledge organiser. Now cover it up and write down
Key vocabulary & definitons from memory:

First time: Look. Second time: Look. Third time: Look.
Cover. State 3 facts Cover. State 3 facts Cover. State 3 facts

Look at the knowledge organiser again. Now cover it up and
without looking, explain a concept or ideain your own words

Re-read your answer above. Look at the knowledge organiser
again. Now cover it up and improve on your previous explanation in
green pen.



Retrieval Relay

Look at your knowledge organiser. Now cover it up.

First time: Write down Second time; Look. Third time: Look.
everything you can Cover. Write down Cover. Write down
remember everything you can everything you can
remember remember

Write down everything here that you didn't remember:



Vocabulary focus 1

Look at your knowledge organiser. Select a key word and write it

here:
Write a definition of Write a sentence with Create a question
the key word in your the key word in it: where the key word is
own words - not the the answer:

same as the one on
the knowledge
organiser:

What other words are connected to this key word?

Draw a picture or diagram to help you remember this key word:



Vocabulary focus 2

Definition: Characteristics:

Key word:

Examples: Non-examples:



What should my knowledge
organiser homework look like?
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Art



Year 9: Unit 3: Structures

Structures
TC36 - Understand the design process.
TC37 - Understand that there may be an order for an effective outcome to be completed.

TC38 - Understand that individual parts may need to be completed before being brought together for the final outcome to be finalised.

Bronze

.. understand what ‘relief’ means.

.. understand what ‘materials and processes’ mean.

.. understand how to use equipment safely.

.. understand what ‘manipulate’ means.

... understand how to use different materials.

... select appropriate colours for an Ironbridge composition.
... understand what ‘annotation” means.

Relief is a sculptural technique where the
sculpted parts remain attached to a solid
background. The term relief is from the
Latin verb relevo, to raise. To create a
sculpture in relief is to give the impression
that the sculpted material has been raised
above the background surface.

Annotating your work
is a useful way of
remembering how
you did something.
This may be useful
when considering
using the processin a
future project.

Formal
Elements
of Art
Colour,
Line,
Shape,
Form, Tone,
Texture
Pattern

Keywords
Tonal Scale
Hatching
Cross Hatching
Ellipse
Symmetrical
Composition
Technique
Modroc
Distressed

To manipulate is the ability to move and position materials with the hands.

For equipment to be used safely
all instructions should be followed
during the lesson.



Year 9: Unit 4 Structures

Structures Formal
TC36 - Understand the design process. Elements
TC37 - Understand that there may be an order for an effective outcome to be completed. of Art
TC38 - Understand that individual parts may need to be completed before being brought together for the final outcome to be finalised. Colour. Line
Bron(zje tand what ‘relief’ The substance used to make something is called a material. Shape,
- understandwha ’re et means. , Process means studying how the work was made and which Form, Tone,
.. understand what ‘materials and processes’ mean. . Texture
. techniques were used.
.. understand how to use equipment safely. Pattern
.. understand what ‘manipulate’ means.
.. understand how to use different materials.
. ) . Keywords
.. select appropriate colours for an Ironbridge composition.
.. understand what ‘annotation’ means. Tonal Scale
Hatching
Cross Hatching
Ellipse
‘Tissue paper is soaked in PVA glue. When it’s dry, Symmetrical
painted black and dry brushed with metallic paint Composition
can look like welded metal. i
Card can also be painted Technique
to look like an old, rusty Modroc
corrugated fence panel. Distressed

Acrylic paint colours available to use:
Black, burnt umber, burnt sienna,
gold, silver, pewter, bronze, copper

All of the individual pieces are made first.
They are then arranged and glued down
at the end to complete the composition.

The Design Process is a way of figuring out what you need to do
and then doing it, it’s about working out a clear and meaningful

goal.

The Design Process helps you to plan and develop your work,

experimenting with and refining your use of materials.

As your ideas develop, you can skip back and forth within your

design, continually improving and moving your project on
towards your final piece.




Computing

Read through your knowledge organiser. Next,
cover it up or put it away and try tho write
down as many of the key facts that you can
remember. Use your knowledge organiser to
check the fact you have written down. Correct
any you may have got wrong.



Computing Year 9 Unit:

Media— Vector graphics

Threshold concept—

° Understand what a real-world problem is.
. Understand digital mediums can be used to communicate to a range of people
U Understand the role of Photoshop to be used to create digital mediums

Keyword

Definition

Manipulate To change

Path A connecting line between two paths

Node A point that can be changed in a
shape

Vector Mathematically based pictures. Made
up of lines, shapes etc (objects).
Easily scalable (as they are not pixel
based).

Graphic A graphic is an image or visual repre-

sentation of an object. Therefore,
computer graphics are simply images
displayed on a computer screen.

Bitmap or Vector image?

Will the image need to be resized?

Will the image need to be drawn to scale?
Will the image need to be realistic?

Are there any restrictions on file size?




Computing Year 9 Unit: Threshold concept—
Python programming with sequences of data ||*  swecton fsic. cionthms, and dara representarion "
. an analyse problems in computational terms
Part 1 ‘
Keyword  Definition  Output Input

Sequence

One of the three basic programming
constructs. Instructions that are
carried one after the other in order.

Variable

A storage location with a name. The
data in a variable can be changed af-
ter being initially set

Selection

One of the three basic programming
constructs. Instructions that can
evaluate a Boolean expression and
branch off to one or more alterna-
tive paths.

Operators

Used to compare two expressions

Iteration

One of the three basic programming
constructs. A selection of code that
can be repeated either a set number
of times (count-controlled) or a vari-
able number of times based on the
evaluation of a Boolean expression
(condition-controlled).

Syntax error

An error that has occurred because
the programmer has not followed the
rules of the programming language
they're using

The print function is used to write output to
the screen. print takes one or more

arguments (strings or variables between the
brackets) and writes the data to the screen.

Output Examples
print(“Hello World!")

print("Hello”, name, “nice to meet you")

Variable Assignment

Variable assignments are not equations.
Variable assignments are instructions for the
computer. This means that the data stored in
a variable can change throughout the runtime
of the program.

Assignment examples
# Example 1
name = “Bob"”

# Example 2

The input function is used o prompt the user to
enter some data using the keyboard. input can
take a string argument which is used as a prompt
to the user to tell them what data the computer is
expecting.

Type Casting

When inputting a number, the int function can be
used to convert the number to an integer so that
your program can perform mathematical
operations on it. This is a form of type casting.
Look at Example 2 below to see this being done.

Input Examples
# Example 1

name = input("What is your name?")
# Example 2

age = int(input("What is your age?"))
Selection

An if statement can be used to implement
selection in Python. It is optionally followed by an
elif and/or and else statement.

Selection Examples

# Example 1
if age >= 18:

print("You can watch the film")
else:

print("You can't watch the film")




Desigh and Technology

You can make your own questions. This process
takes a lot of time, but if you create a study group
you can each create a few questions and trade.
However it is important that you write what Key
facts or knowledge you expect to see in any
answer.









All around the world, people choose to eat different food for many different reasons. One very important factor for most

Threshold Concept: people is the cost of the food. There are ways we can cut down on food bills:

Different food costs different
amounts.

v If the food has been grown or reared locally, travelling and storage costs are reduced

Check the price difference between value brands and premium products.

Check out the price per 100g or per 100ml when choosing food

Check the frozen and canned vegetable section and buy items that are cheaper so you always have a variety in the
freezer and the cupboard.

A NERANERN
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then compile a shopping list of everything you need.
Using leftovers is a great way to save money and reduce food waste.

Bulk buy meat and fish and freeze in smaller portions until you are ready to use them. Take time to plan your meals and

The way food is prepared and made, along with customs, and the use of local and seasonal ingredients, often
combine to create dishes unique to a particular region. Understanding about global cuisine not only allows us to

Threshold Concept:

Food is produced all around the
world and that different countries

Lenjoy a huge range of styles and flavours, but also encourages dialogue around culture and inclusivity.
and cultures eat different foods

Threshold Concept:

Allergies to food and food intolerances can cause a person to become unwell and tha

Most people can eat food, without any problems, although they may have different

’ Every year in the UK, seven to ten million tons of food

all prepacked food requires a food label that displays certain mandatory information.

Threshold Concept:

i=" | Wasting food has environmental and economic

are wasted. It is thought

likes or dislikes that influence what they choose. However, some people react to
certain food and eating them may cause uncomfortable symptoms or, in rare cases,
a severe illness. Food intolerance is the general term used to describe a range of
adverse responses to food, including allergic reactions, adverse reactions resulting
from enzyme deficiencies, pharmacological reactions and other non-defined
responses. Allergy sufferers are protected by Natasha’s Law, requiring food
businesses to include full ingredients labelling on pre-packed for direct sale foods.
This information helps people that have food allergies, intolerances or dietary
needs to make safe and informed choices when they are choosing food items.

that approximately 50% of the food wasted is still edible. The cost of food waste is

significant — estimates show that it costs an average family £700 per year.
Reducing the amount of food consumers waste not only has financial benefits but
also environmental benefits. There are many ways in which consumers can help

Threshold Concept:

reduce food waste when buying food, cooking and storing food.

There is a dependent relationship between diet,

\_ /

nutrition and health.

Poor diet is now the biggest risk factor for preventable ill health in England. A healthy diet helps children grow and develop properly and reduces their risk of
chronic diseases. Adults who eat a healthy diet live longer and have a lower risk of obesity, heart disease, type 2 diabetes, and certain cancers. as well as affecting

our physical health, what we eat may also affect the way we feel. Improving your diet may help to: improve your mood, give you more energy and help you think

more clearly.







Drama

Create a flash card with all the key facts you
want to learn (this can be drawn in your
book). On the next page try writing down as
many facts or as much of the knowledge as
you can. If you find you are getting certain
facts wrong then these are where you need
to focus and relearn.



A: Production Roles

Director Assistant Stage Manager Technical Set Designer Lighting Designer Sound Designer Costume Choreographer
The person Director The person Director Designs and creates Designs the lighting Designs and Designer Creates and
responsible for Supports the responsible for Oversees the the visual elements of plan for the implements the | Designs and coordinates
the overall vision | Director in their the smooth technical the production, production, sound elements | createsthe | the movement
and duties and may running of the elements of the including the set, creating mood and of the costumes and dance
interpretation of also be production, production, props, and costumes. atmosphere with production, for the elements of
the play. They responsible for including including set light. including music, | production, the
work with rehearsals and overseeing design, lighting, sound effects, considering production.
actors, communicating rehearsals, and sound. and audio the period,
designers, and the Director's calling cues, and reinforcement. style, and
other members | vision to the cast ensuring that character of
of the and crew. the the play.
production team performance
to bring the runs according
script to life. to schedule.

B. Types of Theatre

C. Stage Positions

|
In The Round— the
audience sit around the
stage on all sides.
Performers enter and
exit through the
audience on walkways.

Thrust stage sticks out
into the audience, who
sit on three sides.
There is a back wall
that can be used for
hanging backdrops and
large scenery.

Proscenium Arch—
describes the frame
that surrounds the
stage. All the
audience face the
same way. The stage
is raised. The seating
is often tiered.




Types of Light

Profile Spotlight

e Hard Edge effect

e Used to light specific characters or
elements on stage

e (an be static or moved by a person
or computer (‘follow spot’)

e Can be fitted with coloured filters

Fresnel

Soft edged light

Diffusing lens (look for the rings on
the glass)

Can be combined with others to
create a good overall light

Can be fitted with coloured filters

Floodlight

e Wide-angled light (covers a wide

area)

e Little control over the spread of the

light (risk of spill)

e Good for a general wash
e (Can be fitted with coloured filters

Strobe

e Flashing light, used for special

effects

e Old movie effect
e Makes actors’ movements appear

jerky

Lighting Accessories

A small stencilled circular disk used to
create projected image or pattern.

Gels/Colour filter

Coloured filters which change the colour

of the light output.

Barn doors

Metal flaps that can open and close to
change the shape of the light output.
Fixed to the front of fresnel.

Cyclorama

A fabric hung from a batten at the back

of the stage, on which light can be cast
to create effects.




English

You can make your own questions. This
process takes a lot of time, but if you
create a study group you can each create
a few questions and trade. However it is
important that you write what Key facts
or knowledge you expect to see in any
answer.









Literacy

Make sure you are regularly testing your
knowledge using the resources provided
by the school on platforms such as Sparx,
Educake and Linguascope. You will have
been issued with user names and
passwords to access your accounts.















Geography

Organise your ideas into a concept map, like
the one below that summarises 'cells'. In a
concept map, you take the main ideas and link
them together with phrases that explain the
relationship between the concepts. But, always
try to make the concept map from memory
first! Then check it with the knowledge
organiser



YEAR 9 Population Knowledge Organiser

Population density
refers to the number

of people living in an
area. It is worked out
by dividing the
number of people in
an area by the size of
the area. If there are
few people living in
an area this means
that it is sparsely Key
populated, while a

D Sparsely populated . Moderately populated . Densely populated

densely populated area has many people living there.

Population changes

The world's population has changed over time. During the 1st century AD, the world
population was about 300,000 people. The current population is over 8 billion, and most of
the growth has taken place within

the last 100 years.

What causes population to change?

e Dbirths

e deaths

e migration

Overtime, as healthcare has

improved, death rates have

continued to fall. The introduction

of vaccines has also helped to

protect people from diseases. As a

result, life expectancy has

increased.

Factors affecting population density

Factors that can lead to dense populations include:
e flat or gently sloping land

e mild climate

e good soils

e lowland

e water

e places to work
e resources, e.g. coal, oil

Factors that can lead to sparse populations include:
e steep slopes

e harsh climate - very hot or very cold

e dense forest

e dry conditions

e isolated areas with poor transport links

e few jobs

e lack of resources

e good transport and communication links, e.g. ports

Population Pyramids
Population structures are shown using population pyramids. A population structure refers to
the number of males and females in each age group that are found within a specific place.

r 3
What does this mean? 100+ 4
95-99 o
e A wide base means there are lots 204 1
of young people, and suggests a 208 1
high birth rate. Ao +
e A narrow base means a smaller 5650 ] ==
) o 50-54 4 L
proportion of young people, < a0 4 =
. . 40-44 —
suggesting a low birth rate. 339 1 (R —
e A thin middle, short pyramid 205 ] !
means a smaller ageing ot ] e —
. . 5.0 o
population, suggesting that there 04 ] .
is not a long-life expectancy. 6 5 4 3 2 1 0 1 2 8 4 5 &
Population (millions)
Kenya 2011
While improvements in healthcare Key
have historically lowered death v [ reree

rates, increased access to
contraception has lowered birth rates.




YEAR 9 Population Knowledge Organiser

Key Words

Ageing Population — a country with a high proportion
of people over the age of 65.

Birth Rate — the number of people born per 1000 of
the population.

Death Rate — the number of people who die per 1000
of the population.

Densely Populated — many people living in an area.
Fertility Rate — the average number of babies born,
per woman in her lifetime.

Life Expectancy- the average number of years a
person is expected to live.

Population Density — the average number of people
living in a place per square kilometre.

Population Growth Rate — a measure of how quickly
the number of people in an area increases.

Sparsely Populated — few people living in an area.
GNI per person — a measure of people’s wealth.
Sustainable — can be carried on into the future
without harming people’s quality of life, the economy
or the environment.

The UK'’s population is growing .......... why?

u
61,000,000
56,000,000
51,000,000
46,000,000
41,000,000
36,000,000
31,000,000
26,000,000
21,000,000
16,000,000
11,000,000

6,000,000

Perso

Natural Increase — more births than deaths
People are living longer — ageing population
People moving here from other countries —
immigrants — more immigrants than emigrants
(people leaving the UK to live in other countries)

Historical Population of United Kingdom, 43 AD to Present

1,000,000
43

240 436 633 829 1026 1222 1a19 1615 1812 2009
Year

Migration Push factors
These are the reasons for why someone would want
to move away from a place:

Lack of services

War

Famine (starvation/food shortages)
Few Jobs

Natural Disasters

Pull factors
These are the reasons for why someone would want
to move to a place:

Higher quality of life (better homes, etc.)
Access to education

“Bright Lights” of the city

Better healthcare

Better job opportunities

The Future ....... Key Points

With a global population continuing to rise — the
greater the demand for resources — there will be
competition for these.

Impacts — habitat loss, more waste, climate change.

Ageing Populations — HIC’s — pressure on the working
population to support and health care systems —
immigrants will be needed.

Very young populations — LIC’s — competition for jobs
— people may have to emigrate.

Population Growth Around the World

The Earth’s population is growing, but not at the
same rate around the world.

HIC’s — low fertility rates — why? Women are better
educated and go out to work so generally have
fewer children. With high costs of living parents opt
for smaller families which also helps the planet.
Contraception is widely available.

LIC’s — high fertility rates — why? Children needed to
work and support their families, girls are poorly
educated, drop out of school, marry young and have
lots of children. Many young women have no access
to advice about family planning so have little control
over how many children they have.




History

You can make your own questions. This process
takes a lot of time, but if you create a study group
you can each create a few questions and trade.
However it is important that you write what Key
facts or knowledge you expect to see in any
answer.



Year 9 - History Knowledge Organiser - Unit 2 - How did Russia change between 1800 and 1989?

1800s 1914
Russia is an Russia joins
autocratic World War 1.

country ruled )
by the Tsar. weaker than
other countries

involved.

==

(£

Key events in order

1917
Bolshevik
Revolution.

replaced and
Russa become
communist.

ItisMUCh  umd The Tsaris e RUSSia joins  mmmm changes occur,

1922 . 1924-1953
The USSR is Russia is led by
developed. Stalin. Huge
with other not always
communist positive.

countries.

=

L\ A

Tsar Nichols IT

Last Tsar of Russia. Led
Russia into World War
One showing its
weakness. Led the
country autocratically
meaning he controlled
everything. The serfs
did not like him.

Key individuals

Lenin

First Communist leader
of Russia. Led the
Bolshevik Revolution and
developed the USSR in
1922. Considered a hero
in Russia for the
changes he made.

Stalin

Second Communist leader
of Russia. Infroduced 5
year plans to try and
change Russia, they were
harsh and did not always
work. He also introduced
Gulags and led Russia
through the 'Red Terror

The development of Russia from Autocratic rule to Communist Nation had a significant impact globally and for the

Key Terms

Autocracy A country ruled by one person.
All things are controlled by
that person.

Serf The name given to Russian
peasants/ farmers.

Tsar The King of Russia.

Bolshevik The name of the Political party
with led a Revolution in Russia
in 1917.

Revolution A great change. This could be a
change in technology or
leadership.

Communism A belief system that everyone
is equal and everything should
be shared by all.

Capitalism A belief system that people can
be in different social classes
and earn money based on their
work.

Threshold Concepts linked fo this unit:
Tc29 |people of Russia.
mc30 | The outlook on the significance of individuals and events will change over time.

Key fact
Russia has been an important part of

global history for hundreds of years.
Russia's biggest impact has been since
the Bolshevik Revolution in 1917 when
Russia became a Communist country. This
would lead to the Cold War.




Year 9 - History Knowledge Organiser - Unit 3 - What was the Cold War?

Key Terms Key events in order
1945 ini i
Cold War A war fought between The USA drop ier:rlm 'S STP}'{IT \A;l'he_ Kc])crear;ﬁ The Space Race 1991
countries with no fighting the Atomic %Vwefn de ar 1s Toug takes place. The The USSR
taking place. Bomb on Japan estan as a proxy USSR win every collapses.
The Cold V\? — Rus‘sm. Thg — War. The s part except W Russia becomes
Communism A belief sys‘rem that everyone e O_ ar Berlin WG“ IS USSR SUppOF‘T puﬁ'ing a mah on separ'a'l'e ngin_
is equal and everything should Begins. built. the North and the moon which Technically the
be shared by all. < the UTSQ‘ the USA do first. Cold War end.
~ upport the o
Capitalism A belief system that people can m I?oufh. **
be in different social classes L& P@;
and earn money based on their TAY (ﬁ'
work. N7 ¥
Proxy War A war where larger countries Key differences between Communism and Capitalism
support smaller countries and
fight each other through the P Capitalism Communism
smaller countries. ' .
Space Race The name given fo the race o iiii‘ Main Superpower: USA Main Superpower: USSR
moon carried out between the Main ideas: Main ideas:
USA and USSR 1) Private property can be owned. 1) Everyone is equal and everything
USSR The collection of countries 2) Different social classes exist is controlled by the state.
joined with Russia as a large and you can improve. 2) Everything you do is for the
communist superpower. 3) You can earn your own money and good of the state not for your
become wealthy. own improvement.
. . . Key fact
Threshold Concepts linked to this unit: The Cold War is considered by some fo
still be taking place. Some Historians see
mc31 | The Cold War shows that it is possible for superpowers to fight against each other without actively entering combat. this is a war between Communism and
Capitalism rather than between the USA
. 2
Tc32 | Tensions can arise between countries for a number of reasons including ideological differences. ?Sgagiiiﬁizs fﬁz gi,?r\l,%g: vmﬁio.




Maths

You can make your own questions. This
process takes a lot of time, but if you
create a study group you can each create
a few questions and trade. However it is
important that you write what Key facts
or knowledge you expect to see in any
answer.



| Rational — root word: ratio

| ‘ Real numbers: % stems from 2| (% of the whoke) ‘

| HOE — Highest common factor
: | HCFoflsand30 |
|

Find HCF/ LCM
0dd/ Swbtract fractions
Muttiply/ Divide fractions

Write numbers in standard form

| Integers, real and rational numbers

Integer: a whoke rumber that is postive or negative

Rational: a number that can be made by diiding two integers
rrational a number that cannot be made by diiding two integers
nverse operation: the operation that reverses the action
Quotient: the resutt of a division

Product: the resutt of a mutipication

Multiples: found by muttiplying any number by posttive integers
Factor: integers that muttiply together to get another number

Irrational numbers: v/2 the. soltion is a decimal that
never ends and does not repeat

HEAM @ |

The square root of a negative is not a redl
number and cannot be found

__________________ I

VEAR 4 — REASONING WITH NUMBER. ..

@whisto_maths

What do | need to be able
to do?

Bg the end of this unit you should be able to:
ldertify integers, real and rational numbers
Work with directed number

Solve problems with number

Common factors are factors two or more numbers share

I/
N 18 | 23/6/9 18

Il 30
|

: LCM — Lowest common muttiple
[ LMot dand 1 |

' 1918 27, 36,45, 54

l\ 2 \ 12, 24, 36,48, 60

14 3516)10 15 30

Ry

AN |
:

|

|

—— e — — — — — — — — — — — — — — —

l Standard form @
Ony rumber
between | and Axlon
kss than 10

muttipes match

Ony integer
~ Ny Intey

[ 6x 109+ 8x 10° |

(15X 10°) + (0.3 102)

= 600000 + 800000
- 1400000
= L4x 10°

5+ 03 x l0°=

pllegliegliegnliegsliegslingelieligliegiieglieguliegelieglin _I == : —::::::::::::::::::::::::::::::_-'
|
| | Directed number (R |
I I addlthﬂ Generalsation MU'UE [lCthOﬂ :
+ - = _
| making
| T ek couters |
‘ I: Zexo pair WO ¢ nto trer |
|I (1+1-0) negate is |
. - 22 tuming |
I Subtraction Ax-3-6 them over |
I — Gereralsation
: : ;{ Dwisions are the inverse operations :
|
“Stbtract” — means take
| Representation for cakculation iy Or remove a= B = -4— I
s a common factor of dl | |
|
Brackets around negative substitutions helps remove |
calkulation errors I
20-b-2x5-(4) -10+4 - 14 :
_______________________________ a
I |
I 4 2 ‘ | 2 Use equivdert fractions :
|g—§ bt — e 15 lofindacommon I
I 12 10 muttigle for both |
| T - 15 denominators |
e J
I A
LoM-36 | | Mltipication/” Diision of fractions @ |
I |
4_
The first time their | : Shade in 3 Rep&aﬁ t 3_ 2_ i |
[ | pats X omw 4 "3 12 |
| many rows \ |
~ 3 X ES Modeled: |
I 4 3 3 Total rurrber of |
I / parts in the diagram |
I |
I |
I ;
[ [ Remember to use reciprocals ) :
2 s |
I =2 Miplng by Represented |
I 5 4 a reciprocal
0 I
I glves the = — |
2y 4 ) 5 ,
- outcome
I 5 773 |
d



VEAR 4 — REASONING WITH NUMBER. ..

@whisto_maths

By the. end of this unit you should be. able to:
Use FDP equivalence

Calulate percentage increase and decredse
Express percentage change

Solve reverse percentage. problems

Solve percentage problems (cakculator and
non caculator problems)

sing Percentages

Percent: parts per 100 — written using the / symbol

Reduce: to make smaler in vale

Growth: to increase/ to grow

Integer: whole number, can be positive, negative or zero
nvest: use money with the goal of it incredsing in valve. over time (Usually in a bank)
Multiplier: the number you are. muttipljing by

Profit: the income take away any expenses/ costs

I

I

|

| : Decimal: a number in our base. 10 number system Numbers to the right of the decimal place dre called decimals
¥ Fraction: a fraction represents how many parts of a whole vale you have

' Equivalent: of equal vae.
Ly
Ly
Ly
Ly
Ly
Ly
Ly

______________ b -

I
: Percentase I
| v \\ 100/ = a whole = 100 hundredths I Ths dko 70 out of 100
| £ ™ ||m —> s —> sques T — /0 Eu?gridths
E 10 hundredths 11100 70 - 100 70 ’h{ndredttws' '
: 2 . 0 ou&) o/f 100 :I lm@a -7 ée;\ths
|| cacuiator '
-
| 01 One hundredth :' Be careful of recurring decimals
: 100 10 {one whole spit into 100 equal parts) I: E_ —| =0 | Convert to a decimal g }l) - 8,53335535
|| ores tenths hundredths || “ Y
| P I \ x 100 converts to a The dot abovgghe 3
| I percentage
________________________________ T ———————————=

| Pescentage Iorease/ Decrease (R ) |1 Percentage change @

I
I Decrease Increase Il
| . [ bought a phone for £200
| 100~ ‘ 1007 e
: |— | | | : : 00/ Ol vaves of
I 427 Decrease by 587 ncresse by 7| | — 4 Change compare
: | e —— o OE\G\NOL

vale

| Motipier 007 + 127 = 112/ Multipler H Percertaae loss
| 100~ 058 =042 4™ Less toon | 00+012- 112 4 Morethan | |1 B 75
________________________________ 1]
e 1| . .
| Reverse Percentaces X Dl g e,re,ncel e 'l]alues x 100
I 1407 of my number is I rignac vatue
| 407 of my number is 16 84 What s the original |1
: What am | thinking of? number? ||

Il  bou

ght a house Tor £180,000, |
: Original Number (1007) Original Number (100/) : :
I I
4 44 4 444 444 66666666666666 I| inid l
| I £180,000 I
I 3 g4 T [ 1]
I I
: 407 - 6 Tlrg/ to Zcﬁ;e down(toblok/ or 140/ - 84 : : Percertage proft
anq tnen scae back up s

| 07 -4 to 1007/ 076 [T Money made (proﬂt/' 36000 00 =20/
| 100/ - 40 1007 = 60 I ale) 180000



YERR 9 — REASONING WITH NUMBER. ..
Maths & Money

What do | need to be able
to do?

I

I

I

I

: By the end of this unit you should be able to:
| * Solve. problems with bils and bank

| statements
I

I

I

I

I

I

;. |
I |
| | Credit: money being placed into a bank gccount :
: | Debit: money that keaves a bank account I
| | Balance.: the amount of money in a bank account I
|| Experse: a cost/ outgong |
| I Deposit: an intial payment. (often a way of securing an item you wil liter pay for) '
I I
I | Muliplier: a number you are multiplyng by (Muttipter more than | = increasing, less than | = decredsing) |
: | Per Onnum: each year I
| | Currency: the type. of money a country uses |
| : Unitary: ore — the cost of one :

*  Cdeulate simple interest

*  Cdleulate compound interest

*  Cdculate wages and taxes
 Solve problems with exchange rates
 Solve unit pricing problems

I T VO -
| Bils and Bank Statements | 1Smpke Interest Forey |
| Bils — tell you the amount items cost and can show how I For each year of investment the interest remains the same |
| uch money uou reed to pay Menu Price : I Principal amount xInterest Rate x Years |
Some can iclude a total | : 100 I
Lock for dfferent units Mk 89p | | Prircipal amount is the amount invested in the account :
(s tLin pence o poundk) | Teg £1.50 | |1 eg vest £100 at 30/ simple interest for 4 years I
1 100 x30 x4 _ This gccount earned £120 interest |
Bank Statemerts : L 100~ 20| 0t the end of uear 4 they have £220 Vear |
_____________________________ -
Bark statement can have regative baarces f the money | 7~ — T T T T T T T T T T T T T T T T T T T T T T T T -
ey
spert is higher than the. money coming into the account Compound Interest

Interest is added to the current valve of investment at the

I
i i
' |
Date | Description | Credt | Debt [ Balarce : : end of each year so the next uear's interest is greater I
h I
S‘jpl Salory £1500 £1500 : | Principal amount x Multiplier Y €ars I
' |
8‘2‘; Mortgage £600 £900 : : eg lnvest £100 at 307 compound interest for 4 years I
I
" || 100 x 1.3* = £285.61 = Ths account has £285.61 in totdl
g:tp By Money £ 10 I at the end of the 4 years I
| L Vear |
r—-——————————— T r—_———————— e —— — |[FT =~~~ == === =——==== A
I\/alve. Odded Tax (VOT) : I Wages and Taxes | Exe Rates :
: | : Salaries fall into tax brackets — which means they | : 14 |
| VO s payable o the govermment by a | | Pou ths much each morth from their salary I X4 $1.40 |
| business. In the UK VAT is 207 and X | | £1 > >l |
| dded to fters that are bought I I |
! | 11 x200 x 200 |
: Essential tems such as food do not : : I : A \ 4 :
include VOT QOver time I
: : : Time and a half — mears 15 times their hourly rate | : £200 » £280 :
e e x1.4 .
T T T T T T T T T T T T T T T T T T T T T T T T T T | I
11 i . I When making estimates it is aiso useful to use estimates to |
| Unit Pricn To cacuiate wit per cost you diice by | : check if our solution is reasonable |
: 4 Oranges 5 cupeokes the cost : | |
£1 £1.20 | Use inverse operatiors to reverse the exchange process |
| Cupcakes are the best vale as one : | P %P |
I
| 4 = £1.00 D +2 5=£120 fem s the cheapest vae | : Common Currercies :
I 2 = £0.50 +5 : [ United Bingdom £ Pounds I
| B D; 2 There is a directly proportional | || United States of Omerica S Dolars |
: 1=£0.25 ) 1=£0.20 relationship between the cost and | I'| Europe £ Euros |
I I
I I

Cost per Unit number of units



YEAR 9 — REASONING WITH GEOMETRY. ..
Deduction

@whisto_maths

What do | need to be able
to do?

[ |
[ |
: : Parale!: two straight lines that never meet with the same gradient :
|1 Perpendicular: two straight ines that meet at 90° I
| : Transversal a ne that crosses at least two other nes |
: | Sum: the result of adding two or more numbers :
[ |
[ |
[ |
[ |
[ |
I |

By the end of this unit you should be able to:

« Soke ange problers Conjecture: a statement that might be true but is not proven

e Mdke conjectures with angles
* Make conjectures with shapes

Equation: a statement that says two things are equal
Polygon: a 2D shape made. from straight edges

|

|

|

|

|

|

: o ldentify angles in paralel Ines
|

|

|

| Counterexample: an example. that disproves a statement
|

Oternate angles (R ]

—— e — — — — — — — — — — — — iy } o — — — — — — — — — — — — — — —

Corresponding angles

I
: !
| Because co-interior angles I
| have & sum of 180° the :

d [0°
rgls are equal e : highlighted angle s 110 |
I
: !
| I
| I

I |
I |
I |
I |
| Because corresponding |
| Because dtternate dangles are I
I |
I |
I |
I |

equal the highlighted angles highighted angles are the
are the same size e Size.
|1 Os angles on a line. add up to 180° co-interior angles can
|1 also be cakculated from appling alternate/ corresponding
|1 rules first
. e e __ |
... S - - - -- /- I
I SO|W\0) UlYMlC problems Link angle facts to algebra Form an equation State the reason Solve :
| Ongkes on a straight Line . The sum of angles on a 2% + 4x = 180° |
I 1300 2x +4x =180 straight Ine is 180 © |
I — 6x = 180° |
| ; x = 30°
, . Interior Ongles |
| Verticall opposte andles /’Q\ grﬂqf_s b 150° The angges enclosed by the |
: E@UO\[ zv ' um ot anges I pOU@OY\ I
Ongles around a point N ] |
| 360 ° /< / \ Isosceles have the same (number of sides — 2) x 180 |
| e base angles |
-
r . T T T T T T
Making conjectures with andles Making conjectures with shapes

Heywords and facts to recall with shape
Olays

Orea the amount of space inside a shape
Perimeter: the length around a shape
R

Sometimes
egular Polygons: Oll sides and angles are. equal

Quadrilateral Facts

Proving a conjecture Disproving g conjecture
0 pattem s noticed for Only one counterexample is needed to Paralelogram
disprove a conjecture Opposte angks are equi
Oppostte sides are paralel Co-interior angkes
Rectange
Ol angkes 90°
Oppostte sides are paralel fite
No paralel ines
Opply the angke rules Test the theory Make conjecture _— Equal lengths on top sices

180 —70 —20 =90
180 —85 —5=90
180 —45 —45=90

Ol sides equal size
Oppostte angles are equal

The angle. that
meets the
circumference in a
semi circk s 90°

The sum of
anges in a
triande 15 160°

|

|

|

|

|

|

|

|

|

I

| Square
I [ Oll sides equal size
| Ol angles 90°
|

|

|

|

|

|

|

|

|

|

—— e — — — — — — — — — — — — — — — — — — — — — ]

=

|
|
|
|
|
|
|
|
|
|
|
|
| many cases
|
|
|
|
|
|
|
|
|
|
|

Equal lengths on bottom
sides
Ore pair of equal andles

|
|
|
|
|
|
|
|
|
|
|
|
Oppostte sides are paralel |
|
|
|
|
|
|
|
|
|
|
|



VEAR 4 — REASONING WITH GEOMETRY...

@whisto_maths

Rotation ¢ Trarslation

I ______________ | i_ _________________________________
| What do [need to be able |} Freuwords
(o do? ' -
: I : Rotate: a rotation is a circular movement
| 59 the end of this unit you should be able to: : | Summetry: when two or more parts are dentical after a transformation
||+ entfy the order of rolational symelry 1 posdar g rogular shape has angles and sides of equal lengths
| « Rotate a shape about a point on the I | . v
| hope : | Invariant: a point that does not move after a transformation
|« Rotate a shape dbout a port not on a [ Vertex: a point two edges meet
: shape 11 Horizorttal from sice to side
|+ Tronslate by a gen vector I Verticat from up to down
| ° Compare rotations and reflections [
L
S e e e
. - - T T T T T ===
I Rotational Symmetry T’afgt‘gtlzf;j; ;;mm 11 Translation and vector notation
: : : How far left or right to move
[ Trace your shape (mark Neggtive valve (eft)
I [ «—
the centre point) Vector , ( 1 ) Postive value (right)
: ® / : : Notation -2
2 Rotate your tracing
| | How far up or down to move
| paper on top of the : | Neggive, vale. (dowr)
I original through 360° [ _3 Posttive valve (up)
| 3 Count the times it fits I frarsitn ( 3 )
I . ? L
| ° back into itself i /
I L
| O regular pentagon has rotational symmetry of order 5 | |
- - 11
- T T T T T T ||
| Rotate from a point (in a shape) |l Every vertex has been ransialed
| |l by the same. amount
L g | Trace the original shape | /
| shape (mark the point of rotation) I : o
I
| 2 teep the port in the same : I shape
I place and tum the tracing | I
' o — U compare rotations and refectons
: Point of 3. Draw the new shape I Mpare rOLGUons and re ons
rotation I o Reflections are. a mirror image
! I f the orgrd sha
I 1 of the original shape
: Image. 90° I - e o vert
clockvise Clockwise Onti-Clockwise I nrormation needed 10 perorm
- - - ___ 1A reflection
- T T T T T T [ - Line of reflection (Mrror ine)
: Rotate from a point (outside a shape) 1
I
| Image: 90° arti - clockwise I
I I
I Pont of | Trace the original shape I Rotations are the movement of a shape in a
: rotation (mark the point of rotation) : : circular motion
| \4 2 teep the point inthe same. | |
| Poce and tum the tracng. || Information needed to perform a rotation
| paper [ - Point of rotation
| I - Direction of rotation
: 2 D22 772 [ - Degrees of rotation
Original [
| shape [
- - -



YEAR 9 — REASONING WITH GEOMETRY. ..
Puthagoras” theorem

@whisto_maths

A
|

| What do [need to be able |} Freuwords |
I I I
I to do? '

_— L I
| o
| By the end of this unit you should be able to: : : Square rumber: the output of a number multiled by itseff :
| Use square and cuge roofs 11 Square root: a vale that can be mutipled by ttself to give a square number |
| ¢ ldentify the hypotenuse | , . . |
|« Cacute the hupotenuse | | Hypotenuse: the largest side on ai right dngled triangle. Owaus oppostte the right dngle |
|« Find g missing side in a Right anged : | Oppostte: the side oppostte the angle of interest |
: trange [ Odiacent: the side next to the angle of interest I

* Use Puthagoras” theorem on aixes [ I
: *  Explore proofs of Puthagoras” theorem | | |

I |
I_ ______________ e e e e e e e e e e — — — — — — — — — — — — — — — — — — — — —— -
———————————————————————————————————————————————— -l
| I :
| SQUGP’ €s W‘d Square r OOtS o , vV isthe square root symbol :| Identrfu the’ hUP OtCﬂUS@ :
o oo ooo oooo Thscondso be witten as 6 _ | I
| OO0 OO0 OOOO %m_f I |
I oo oooo Because & x 8= 04 II I
I oooo I |
| Ixt 2x2 3x3 4x4 5x5 6x6 Tx7  §x8  4x9 10x 10 I |
| ] — I
| 4 9 16 A 36 49 o4 &l 100
| | Hypotenuse |
Square numbers
- _____ I |
re T T T T T Al |
| Determine if a trlano)h IS fIO)ht'U\HQICd ” The hypotenuse is alays the |
I I longest side on a triangle because it |
: If a triangke s right-angled, the sum of the squares of the shorter sides wil equal the I is opposite the biggest angle |
| square. of the hypotenuse I :
| Il
| a? + b? = hypotenuse? I :
I 2,32 2 T Polygons can stil have a |
I 9 a 2+b 2_ hy Zotenuse Substituting the numbers info the I: <« hpotenuse ff it s spit vp rto |
| 324+42=75 } theorem shows that this is a | triangks and opposte a right |
La =3 b=4 ¢-=5 9 +16 =25 right-angled triangle ” ange
—————— o ————— e — — — r————-—-—-—————— — A
T T I ,
| Cakuite the hypotenuse || Cabulate missng sides 1| Puthagoras” theorem on a |
: 6 rfm Ether of the | : oot 5 Either of the I: coordnate axis :
3cm short sides ypolenuse cm short sides |
: ; can be : | con be |: Find the length of the ne segment :
| ot Wbeled gorb | | labeled a or b || ' |
| ypotenuse | : 4 12cm L ' The segrentcan |
I | | L 1 be made noa |
I a? + b? = hypotenuse? | | a? + b? = hypotenuse? I| - right-angled |
I : | - ; :| triange by addng |
L sumtiute n the 01 s 2! 1224p% = 15 II the thes onthe |
: wies foraandp | 3 T6°= hypotenuse | | | Substitute in the values you are given |: lagram :
| 9 + 36 = hypotenuse? | : 144 + b? = 225 :| The line segment is the hupotenuse I
! 45 = hypotenuse? | ! !
| 2 To find the ypotenuse™ : Rearrange the equation by subtracting the shorter I| a? +b? = hypotenuse?® |
I ngotenuse I | square. from the hypotenuse squared :I — I
| square root the V45 = hypotenuse : | Square root 1o b2 =111 || The lengths of a and b are the |
I sum of the | | find the length { I sides of the triange |
: squares of the ~ 6-71cm = hypotenuse Il e soe b =v111 = 10.54 cm I :
| shorter sides | | II_ Be careful to check the scak on the axes |
—_—— e o —— —_—— e —



Numeracy

Make sure you are regularly testing your
knowledge using the resources provided
by the school on platforms such as Spary,
Educake and Linguascope. You will have
been issued with user names and
passwords to access your accounts.

































MFL - French

Create a flash card with all the key facts you
want to learn (this can be drawn in your
book). On the next page try writing down as
many facts or as much of the knowledge as
you can. If you find you are getting certain
facts wrong then these are where you need
to focus and relearn.
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Objective: To discuss a trip to Provence
Threshold Concepts:

Questions in French can be formed by inverting the verb and the subject of the sentence.

In French, there is no one word for “would”. To express the conditional tense, pronoun-specific endings are added to the infinitive.

Activités en Provence

Je voudrais.. - T would like...

visiter les ruines romanes - to see the

roman ruins

descendre le riviere en canoé - to go

down the river on a canoe

aller au festival de film - to go to a

film festicval

regarder un combat de taureau - to

see a bull fight
faire du shopping - to do shopping

faire de I'équitation -to do horse

riding
faire de l'escalade - do climbing

faire de la planche a voile - to do

windsurfing
faire de la plongée - to do diving

faire de |'escalade - 1o do climbing

Questions about holidays The Conditional Tense

I The conditional tense is used to say what you
| « would » do.

To say what you would like to do, use « je
voudrais » plus an infinitive verb:

Je voudrais habiter a Cannes - I would like to
I live in Cannes

Je voudrais aller au festival de film - T would like
How long do you spend on holiday? I+ go fo film festival

Que fais-tu quand tu es en vacances? || To form the conditional tense, you use the

) infinitive and add different endings, depending on
What do you do on holiday? the pronoun you are using.
Je vais ...

For « je » you add « -ais ».
| Je jouerais - I would play.
There are some irregular verbs:
I J'irais - I would go
Je serais - I would be
Je ferais - I would do
avec ma famille - with my family J'aurais - I would have

avec mes copains - with my friends I Click on the QR code, to revise and practise the
conditional tense.

OU passes-tu les vacances?

Where do you spend your holidays?
Avec qui passes-tu les vacances?

Who do you spend your holidays with?

Combien de te estes-tu e
vc?&ncensg temps restes-tu en

au bord de la mer - fo the sea-side
a la campagne - to the countryside
a la montagne - to the mountains

en colo - to a holiday camp

pour une semaine - for a week

pour quinze jours - for fifteen days |

L

Question Words
I Ou? - Where I
| Avec qui? Who with? I
Combien de temps? For how long?
| Que? - what? |
To make a question in French, you put the question word I
o

| ot the start of the sentence and then you invert (swap

setie el e

-
| The Perfect Tense with avoir

To form the perfect you need to use
I the verb avoir in the present tense:

| jlai - i have
tu as - you have
I il / elle a- he/ she has
onh a / nous avons - we have

|
I You then add the past participle:
| -er verbs = € (jai joué)
| . -reverbs = u (jai perdu)
I -re verbs = i (j'ai fini)
I There are some irregular past
I participles you need to know:
| 7ai fait - I did
| . Jaibu - I drank
| Jaivu - I saw
| The Perfect Tense with étre

I There are 14 verbs which use étre to
| form the perfect tense:

| . Jesuis-Iam
Tues - You are

_I Il / elle est - he / she is

On est - we are

I The most important verb which uses
étre is “aller” &

Je suis allé - I went



https://lacquerorleaveher.blogspot.com/2013/08/notd-parisian-flourish.html
https://creativecommons.org/licenses/by-nc-nd/3.0/

Music

Make sure you are regularly testing your
knowledge using the resources provided
by the school on platforms such as Sparx,
Educake and Linguascope. You will have
been issued with user names and
passwords to access your accounts.



A. Popular Song Structure

. DIO
B. Key Words

g Popular Songs ana al A

C. Lead Sheet Notation and Arrangements

SONG STRUCTURE — How a song is made up of or divided
into different sections (see below) and the order in which
these sections occur. To work out the structure of a
song, it’s helpful to analyse the LYRICS and listen to a
recording for the song (for instrumental sections).
INTRO - often shortened to ‘intro’, the first section of a
song which sets the mood of the song and is sometimes,
but not always, an instrumental section using the song’s
chord pattern.

VERSES — songs normally have several verses. Verses
introduce the song’s theme and have the same melody
but different lyrics for each verse which helps develop
the song’s narrative and story. Songs made up entirely
of verses are called STROPHIC.

LINK — a optional short section often used to join
different parts of a song together, often instrumental,
and sometimes joins verses together or appears at other
points within a song.

PRE-CHORUS — an optional section of music that occurs
before the CHORUS which helps the music move forward
and “prepare” for what is to come.

CHORUS — occurs several times within a song and
contains the most memorable HOOK/RIFF. The chorus
relays the message of the song and is repeated with the
same melody and lyrics each time it is heard. In popular
songs, the chorus is often repeated several times
towards the end of the song.

MIDDLE 8/BRIDGE — a section (often 8 bars in length)
that provides contrasting musical material often
featuring an instrumental or vocal solo using new
musical material allowing the performer to display their
technical skill on their instrument or voice.
CODA/OUTRO - The final section of a popular song

which brings it to an end (Coda is Italian for “tail”!)

LYRICS — The words of a song, usually consisting of VERSES and a
CHORUS.

HOOK — A ‘musical hook’ is usually the ‘catchy bit’ of the song that
you will remember. It is often short and used and repeated in
different places throughout the piece. Hooks can be either
MELODIC, RHYTHMIC or VERBAL/LYRICAL.

RIFF — A repeated musical pattern often used in the introduction
and instrumental breaks in a song or piece of music. Riffs can be
rhythmic, melodic or lyrical, short and repeated.

MELODY - The main tune of the song often sung by the LEAD
SINGER.

COUNTER-MELODY — An ‘extra’ melody often performed ‘on top
of’ the main melody that “fits” with it a DESCANT or INSTRUMENTAL SOLO.
TEXTURE — The layers that make up a song e.g., Melody, Counter-
Melody, Hooks/Riffs, Chords, Accompaniment, Bass Line.

A LEAD SHEET is a form of

musical NOTATION that

contains only the essential

elements of a popular song

such as the MELODY,

LYRICS, RIFFS, CHORDS

(often as guitar chord

symbols) and BASS LINE; it is

not as developed as a FULL

SCORE ARRANGEMENT and

is open to interpretation by

performers who need to use and adapt the given elements to create their own
musical ARRANGEMENT: their “version” of an existing song.

COVER (VERSION) — A new performance, remake or recording by someone other
than the original artist or composer of the song.

D. Conjunct and Disjunct Melodic Motion

CONJUNCT MELODIC MOTION — Melodies which move mainly

Conjunct
A

by step or use notes which are next to or close to one another.
DISJUNCT MELODIC MOTION — Melodies which move mainly
by leap or use notes which are not next to or close to one
another.

MELODIC RANGE — The distance between the lowest and
highest pitched notes in a melody.
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E. Song Timbre and Sonority (Instruments that are used to Accompany Songs)

Pop Bands often feature a DRUM KIT and PERCUSSION to provide the rhythm along with ELECTRIC GUITARS (LEAD

GUITAR, RHYTHM GUITAR and BASS GUITAR) and KEYBOARDS. Sometimes ACOUSTIC INSTRUMENTS are used such as
the PIANO or ACOUSTIC GUITAR. ORCHESTRAL INSTRUMENTS are often found
in pop songs such as the STRINGS, SAXOPHONE, TROMBONE and TRUMPET.
Singers are essential to a pop song - LEAD SINGER - Often the “frontline”
member of the band (most famous) who sings most of the melody line to the
song. BACKING SINGERS support the lead singer providing HARMONY or a
COUNTER-MELODY (a melody that is often higher in pitch and different, but still

‘fits with’ the main melody) and do not sing all the time but just at certain points within a pop song e.g. in the chorus.
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Year 9 PE Spring Knowledge Organiser

In the spring term, students will learn to plan and implement tactics, to show good sportsmanship
in lessons, and perform advanced skills during a match or a game.

Plan and Implement

Students will learn what it means to
plan and implement (put in place)
tactics in a competitive situation.

For example:

In badminton - the tactic could be to
play to the space to make the
opponent run more.

In basketball — the tactic could be
passing wide on the court to make
use of the space.

Have a think about other sports, and
what tactics you could use in them.

Sportsmanship

Showing good sportsmanship is an
important attribute for students to
learn in PE. Here's what it might look
like:

« Congratulating an opponenton a
good performance or winning.

« Shaking hands with the opponent
after the game.

* Respecting the decisions of
referees or officials.

+ Show good support to others
involved in the game.

Advanced skills

Starting to perform more advanced
skills during physical activity is key to
students progressing practically.

Can you think of a skill, and then how
you would make it more advanced?
Here's an example:

« Passing in netball > making a pass
with a defender pressuring you in
netball.

See if you can name 3 more in
different sports you have done so far
at school.
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Year 9 - PSHE - Health and Wellbeing

Key Terms . : .
PSHE covers a variety of topics that focus Key Skills
Drug A substance that can affect how

our mind and bodv works developing understanding in four key areas,
4 14 personal, social, health and economic.

« Active listening and

Stimulant A type of drug that can increase communication
the activity of the body Eating Habits «  Teamwork

Addiction | An uncontrollable need to drink . * Nego’na’npn and self advocacy
alcohol, take drugs or engage in The Eatwell Guide is used to help us all eat a + Leadership

balanced diet.

a particular activity * Presentation and debate

Volatile Substances that include glues, Eating five fruits and vegetables a day is ) : :
Substances | cleaning fluids, paint, lighter beneficial for your health They are a great source Physical Wellbeing and Exercise
fuels, aerosol and nail polish of vitamins, minerals and fibre.
remover The NHS suggests that young

people aim for an average of at
least 60 minutes of moderate or

Drugs are substances that change a person's mental or physical state. They can vigorous intensity physical activity
affect the way your brain works, how you feel and behave and your understanding a day across the week.
and your senses.

There are three key factors to drug addiction; the individual, the situation and ) .
the substance. Physical activity can help to

reduce stress and anxiety and

Drugs and Addiction

Threshold Concepts: reduce your health risks later n
life.
TC7 [That there are misconceptions, social norms and cultural values relating to drug, alcohol and tobacco use .
TC8 [That there are strategies to manage a range of influences on drug, alcohol and tobacco use, including peers OUr' enr'IChmenT pr'Ogr‘Clm Offer's
TC9 [That there are personal and social risks and consequences of substance use and misuse including occasional use m(]ny oppor'TuniTieS to engage in
TC10 That there are benefits of physical activity and exercise for physical and mental health and wellbeing Team SPOPTS 1-0 impr.ove YOLII"
physical health.




RS

Create a flash card with all the key facts you
want to learn (this can be drawn in your
book). On the next page try writing down as
many facts or as much of the knowledge as
you can. If you find you are getting certain
facts wrong then these are where you need
to focus and relearn.









RSE

Read through your knowledge organiser. Next,
cover it up or put it away and try tho write
down as many of the key facts that you can
remember. Use your knowledge organiser to
check the fact you have written down. Correct
any you may have got wrong.



Year 9 - RSE - Respectful Relationships

Key Terms RSE covers a variety of topics and focuses on developing understanding Key Skills
: ) : of different aspects of relationships. This includes with yourself,
Stereotyping | Anincorrect assumption friendships, romantic and sexual relationships
about a group of people : - Active listening and
Disability A physical or mental Equality Act 2010 communication
condition which limits a What counts as discrimination under the Eauality Act 20107 «  Teamwork
person's ability o move, af counts as discrimination under Yhe Equality Ac ' « Presentation and debate
pr'o]céess information, or 1. Direct Discrimination - Someone is treated less favourably
ertorm necessar i .
f‘)uncﬂons Y than someone else due to a protected characterised Harassment and Stalking
H The basic righ d 2. Indirect Discrimination - This is where a rule or new policy
uman e basic rights an applies to everyone but because of a protected Stalking - To follow someone
Rights freedomSSThaT tﬁ‘long to characteristic it disadvantages someone unfairly around without their consent,
every person in the : .
world, from birth until 3. Victimisation - Someone is maltreated because they have SomeT!mes Con,S'STenﬂy and
death raised a grievance under the equality Act 2010 sometimes taking photos or
footage.
Islamophobia | Dislike of 4. Harassment - Unwanted attention or conduct related to a
or preiudice aagainst characteristic creating an intimidating or hostile environment B
Islp_;am - Musli?ns for the person concerned Harassment - When someone

behaves in a way which offends
you or makes you feel distressed
or intfimidated. Harassment is a

form of discrimination under the
[TC7 [Know that stereotyping, prejudice and discrimination has an effect on individuals and relationships Equah_ry ACT 2010

Threshold Concepts:

That prejudice-based language and behaviour, offline and online, including sexism, homophobia, biphobia, transphobia, racism, ableism and faith-based
ITC8|prejudice is unacceptable

[TC9[That the Equality Act 2010 provides legal rights, responsibilities and protections

If you feel unsafe talk to
someone you trust




Science

Organise your ideas into a concept map, like
the one below that summarises 'cells'. In a
concept map, you take the main ideas and link
them together with phrases that explain the
relationship between the concepts. But, always
try to make the concept map from memory
first! Then check it with the knowledge
organiser



________________ r--———"=—"=—"™=—"™=—"™=—"™>="™="™="™>"™>""™""™>""™"1

: Threshold Concept

How do 100 elements make up
I everything in the universe?

: |Keywords

I | Electron - a subatomic particle with a negative
| charge

———————————————— | | Electrostatic attraction - strong attraction

r—m-—————=-------""""-—=-—=-——-— |
I

Covalent bonds

| Two nonmetals will form a covalent
| bond. The atoms share electrons to
themselves stable.

1 shared pair
=asingle
bond s
2 shared pairs O0=—
=a double
bond

3 shared pairs
= a triple
bond

: Giant Covalent Structures

| Diamond  Graphite Silicondioxide

Graphene Fullerenes

| | Weak intermolecular forces - force of attraction
between atoms, elements and molecules

a lfRlocalised electron - free moving electron that

I isn’t a part of any atom

I lon — a charged particle ]

I
I
I
I
| | between oppositely charged ions |
I
I
I
I

. I
Simple covalent compounds have strong I
covalentbonds between atoms and weal
intermolecular forces between molecules

- cannot conduct electricity

I
I
I
I
| Properties — low m.p and b.p I
| I
| I
| I
| I
I

-Ir _________________ =
|

Metallic bonding |

|| Metals consist of a giant metallic structure
IITheyare positive metal ions surrounded
Ibya sea of delocalised electrons

|| Alloys

II Alloys are a mixture of metals and anot

: Alloys are strongerthan metals as the
different sized atoms distort the layers

=
I
I
I
I
I
I
I
I
I

———— — ————— — ———— —




——— —— — — — — — — — — — — 1T ———_— - —_—————

| Threshold Concept Keywords

I

: , I

Pathogens are microorganisms |
I

| that cause disease . ;
seen using a microscope.

L |1~ Virus: A disease causing agent about 1/100"
: g?rzmuzlicable and non-communicable replicate within host body cell/

|

| - Communicable, which can be transferred |
from one person to another, or from one |
organism fo another, eg in humans, these |

| include measles, food poisoning and |
| malaria |
- Non-communicable, which |

I are not transferred between |

L People or other organisms _ ik

| Antibiotics vs painkille
| - Antibiotics are >
| substances that slow

down or stop the growth
of bacteria.
I Painkillers are chemicals
that relieve the symptoms
lbut do not kill the

pathogens.
-

IVaccines allow a dead or altered
form of the disease causing
pathogen to be infroduced into th
Ibody, which contain a specific
Ianﬁgen.

- Pathogens: A microorganism that causes
disease e.g. bacteria, virus, protist, fungus.
- Microorganism: Are so small they can only be

- Bacteria: A single celled microorganism
without a true nucleus, some cause disease.

- Fungi: A microorganism that can cause
disease, and that produces spores that can
spread to other organisms.

I
I
I
I
I
________________ 1| of the size of a bacterial cell. Can only
I
I
I
I
I



he nervous system:

—

T
- The central nervous
system (CNS) - the
brain and spinal
cord.

The peripheral
nervous system -
nerve cells that
carry information to
or from the CNS.

|| concentration [E%s

|| Keywords

- Nerves: Specialised cells which carry
electrical impulses

_______________ - Hormones: Chemical messenger produced in
[ glands and carried by the blood to specific organs
in the body.
:I - Organism: Living things that are capable of
| reacting to stimuli, reproduction, growth, and
| homeostasis.
[| - Regulate: control or maintain the rate or speed
9 p
of a process so that it operates properly.
| P p properly
| - Response: as a result of the stimulus that is
Il_de‘rec‘red by the receptor a response is caused
g
]I | The menstrual cycle
Il Body controls: 1|
I Homeostasis maintains |
I optimal conditions for |
|| enzyme action
” throughout the body, |
as well as all cell |
functions. |
I In the human body |
I incl e |
|| control of: 2@ |
I 1. Blood glucose| -S4 |

I 2. Body temperature

The riervous system response’
|

|

|

|

| kY0

|

Lo s




| Threshold Concept I:
. | Particle - A particleis the smallest possible unit of

| All particles must collide with a 1

1

I

. . matter
minimum amount of energy in

I
I
I
Energy - Energyis what holds the atomsina |
molecule fogether

I_or‘_de_r‘_fo_r'fa_cf _________ | Collision - If the two molecules A and B are to |
________________ | I react, they must get close enough to  break and make I
: Rate of reaction | the newbonds that are needed in the products |
I

I
I I
I

I
Reactant - A substance put into a chemical reaction
p
I
I

| Rate of reaction is how fast Product - A substance made ina chemical reaction

| reactants are changed into
| products | ——— - - - - - — - - ———————

Catalysts: increase the rate of a
reaction without getting used up.
Catalysts decrease the activation
energy required to begin the
reaction.

Catalysts are often used in

The rate of reaction is
| directly proportional to the
number of successful

collisions. ( .
| To react particles must fnrsf r; : industry to speed up chemical
collide processes.

| with enoughactivation
| energy to be successful.

There are various ways to measure quantity of
reactant used or quantity of product formed.
Measuring the volume of gas collected can be the
easiest way to measure.

Effect of Temperature:
Increasing the tfemperature increases the
speed that particles are moving
This means there are more frequent
collisions, and those collisions have more

energy : :
The units of rate depend on what you are measuring.

For example, when measuring gas incm 3 you will end
up with rate units of cm  3/s. When measuring the
change in mass (g), you will end up with units of g/s

Video of all

I

I

I

I

I

I

I

I

I

I

| Effecf of Concentration:

| Increasing concgn‘rm‘no_n increases the
number of reacting particles.

| This increases the frequency of collisions

I

I

I

I

I

I

I

I

I

I

I

Effect of Surface Area: ‘
Increasing the surface area increases the

proportion of (solid) particles available to
react.

This increases the frequency of coIInsmns



—_——— e ———— e — — — —— — —q

I Kemor'ds

________________.

| Threshold Concept

| Speed equals distance travelledin a given I|
| time

| Speed . distance, time |

| -Speed is measured in metres I
| per second (m/s) Il
| -Distance is measured in l
| metres (m) ||
| -Time is measured in seconds l

| (s) l

IScalc.\r' and vector gquantities

Speed: Distance travelledin a
certain time
Distance: how far an object has
travelled. It is a scalar quantity
Time: how long something takes
Metres a unit measurement of
distance (m)
Seconds: a unit measurement of time

|
| Scalar - a |
measurement of |
something They only |
| have MAGNITUDE |

(size) |
I Vector- a |
I measurement of |
| somethi ng They have |
| DIRECTION & I
| MAGNITUDE (siz) |

| Termmal I
| velocity

| At terminal

Ivelocity, the object I
|moves at a steady
|speed in a constant
direction because
IThe resultant

force acting on it is
| zero
L

P e — — — — — — — — — — — — —

_______________ 1
_______________ 3
IRequired practical- Acceleration ||
1
|
|
||
e e o

Equations for this topic

Speed = Distance + Time

Il Change in Velocity = Acceleration x Time
|l Force = Mass X Acceleration

1L
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